EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-CS-SUMMER / SS/17 / 2016-2017

By the order of Examination committee, the following is the result of BE-CS - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017	CLASS :	BE-C	S		BRANC	CH : 1	ENGINE	ERING					SEMES	ΓER / TR	IMEST	ER :	SUMM	ER	MON	NTH OF EXAM	1 : JUN	E-2017
ROLL NO	NAME		U		107(3) 107(3)	MA1	201(4)		201(4) 401(3)		001(3) 101(3)		001(3) 101(3)		201(4) 101(4)		109(4) 201(4)		201(4)	TOTAL CREDIT	TOTAL	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.		GR.	PT.	GR.	PT.	GR.	PT.	POINTS	CREDITS		
			U	Ex	30.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BE/6031/14	AMISHA TIWARI		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	30.0	3.0	10.00	-
DE/(044/14	CHREVACH WIRAAR		U	-	-	F	0.0	D	16.0	С	15.0	-	-	-	-	-	-	-	-	21.0	11.0	2.02	
BE/6044/14	SHREYASH KUMAR		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	31.0	11.0	2.82	-
BE/6046/14	MEHUL ANKIT		U	-	-	-	-	-	-	-	-	F	0.0	F	0.0	С	20.0	-		20.0	11.0	1.82	
DE/0040/14	MEHOL ANKIT		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	11.0	1.02	_
BE/6057/14	SUNNY KUMAR		U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	F	0.0	00.0	4.0	0.00	_
			L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-					
BE/6061/14	PRINCE SHUKLA		U	-	-		-	-	-	-	-	F	0.0	-	-	-	-	-		00.0	3.0	0.00	-
			L	-	-	-	-	<u> </u>	-	-	-	-	-	-	-	-							
BE/6071/14	RISHAV RANJAN		T	- В	18.0	- D	12.0	- C	15.0	- F	0.0	-	-	-	-	-	-	<u> </u>	<u> </u>	45.0	12.0	3.75	-
			L		16.0		12.0		13.0	Г	0.0	D	12.0	<u> </u>		<u> </u>			20.0				
BE/6081/14	AAYUSH RANJAN		Ū	-	-	-	-		-	-	-	Ъ	-	-	-	-	-	_	20.0	32.0	7.0	4.57	-
			L	-	-	-	-	-	<u> </u>	-	-	<u> </u>	-	- C	20.0	<u> </u>	-	-	-				
BE/6094/14	SATYAKETU SANJAY		Ţ	_	-	-	-	-	<u>-</u>	_	-	-	-		20.0	<u> </u>			$\vdash$	20.0	4.0	5.00	-
			II	_		D	16.0		<u> </u>			_	-	<u> </u>	<u> </u>	<u>-</u>		_					
BE/6099/14	ANIK PODDAR		L	_	_	-	-	-	<u> </u>	_	_	_	-	_		<u> </u>	_	-	_	16.0	4.0	4.00	-
			U	_	-	_	_	F	0.0	-	-	-	-	F	0.0	-	_	-	<del>-</del> -				
BE/6103/14	ROHAN KUMAR		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	8.0	0.00	-
DE/G104/14			U	-	-	-	-	-	-	-	-	-	-	-	-	<u> </u>	-	-	<u> </u>	10.0	2.0		
BE/6124/14	ATUL VERMA		L	-	-	В	18.0	-	-	-	-	-	-	-	-	-	-	-	- 1	18.0	3.0	6.00	-
BE/6127/14	ANAND SHANKAR		U	-	-	D	16.0	-	-	-	-	-	-	-	-	-	-	-	-	53.0	11.0	4.82	
DE/012//14	ANAIND SHAINKAK		L	-	-	-	-	-	-	-	-	B+	21.0	D	16.0	-	-	-	-	33.0	11.0	4.82	-

CS6107(3) : COMPUTER NETWORKS CS4107(3) : OPERATING SYSTEMS MA1201(4) : ENGINEERING MATHEMATICS CS3005(3) : OBJECT ORIENTED PROGRAMMING USING JAVA

AM1201(4) : ENGINEERING MECHANICS CH1401(3) : ENGINEERING CHEMISTRY

ME2001(3) : PRINCIPLES OF MECHANICAL ENGINEERING CS4101(3) : DISCRETE MATHEMATICAL STRUCTURES

EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING CS8101(3) : ARTIFICIAL INTELLIGENCE AND EXPERT SYSTEMS MA2201(4) : ADVANCED ENGINEERING MATHEMATICS CS5101(4) : FORMAL LANGUAGE & AUTOMATA THEORY

CS4109(4) : COMPUTER SYSTEM ARCHITECTURE EC3201(4) : DIGITAL ELECTRONICS : PRINCIPLES OF ELECTRICAL ENGINEERING

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EE2201(4)

EXAMINATION DEPARTMENT

Date: SEPT-2017

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-CS-SUMMER / SS/17/ 2016-2017

By the order of Examination committee, the following is the result of BE-CS - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017 CLASS : B	E-CS	5		BRANC	H : E	ENGINEE	RING				;	SEMES	ΓER / TR	IMEST	ER :	SUMME	R	MO	NTH OF EXAM	1 : JUN	IE-2017
ROLL NO	NAME	U L	CS410	` ′	MA12 CS30	` /	AM12 CH14	( )	ME20 CS41	. ,	EC20 CS81	( )		201(4) 101(4)		109(4) 201(4)	EE220	01(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6138/14	MOHIT KUMAR	U	-	-	-	-	-	-	-	-	-	-	-	-	В	24.0	-	-	24.0	4.0	6.00	_
BE/0138/14	MOIII KUMAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24.0	4.0	0.00	_
DE/61/2/1/	KUMARI APRAJITA RANJAN	U	-	-	-	-	-	-	-	-	-	-	F	0.0	-	-	-	-	20.0	8.0	2.50	
BE/0142/14	KUMAKI AI KAJITA KANJAN	L	-	-	-	-	-	-	-	-	-	-	-	-	С	20.0	-	-	20.0	6.0	2.30	
BE/6151/14	GAUTAM KUMAR SINGH	U	-	-	-	-	-	-	-	-	-	-	-	-	С	20.0	-	-	20.0	4.0	5.00	
BE/0131/14	GAUTAM KUMAK SINGH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	20.0	4.0	3.00	-
DE/6152/14	SUBHAM SINHA	U	-	-	-	-	-	-	-	-	-	-	D	16.0	-	-	-	-	16.0	4.0	4.00	
DE/0132/14	SUDNAIVI SIINNA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	10.0	4.0	4.00	_

CS6107(3)	: COMPUTER NETWORKS	CS4107(3)	: OPERATING SYSTEMS
MA1201(4)	: ENGINEERING MATHEMATICS	CS3005(3)	: OBJECT ORIENTED PROGRAMMING USING JAVA
AM1201(4)	: ENGINEERING MECHANICS	CH1401(3)	: ENGINEERING CHEMISTRY
ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING	CS4101(3)	: DISCRETE MATHEMATICAL STRUCTURES
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	CS8101(3)	: ARTIFICIAL INTELLIGENCE AND EXPERT SYSTEMS

: FORMAL LANGUAGE & AUTOMATA THEORY : DIGITAL ELECTRONICS MA2201(4) : ADVANCED ENGINEERING MATHEMATICS CS5101(4) CS4109(4) : COMPUTER SYSTEM ARCHITECTURE EC3201(4)

EE2201(4) : PRINCIPLES OF ELECTRICAL ENGINEERING

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

Disclaimer

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-CS-SUMMER / SS/17/ 2016-2017

By the order of Examination committee, the following is the result of BE-CS - SUMMER Semester held in the month of JUNE-2017

SESSION	N : 2016-2017 CLAS	SS : BE-CS	5		BRANC	Н : І	ENGINE	ERING					SEME	STER / T	RIMES	ΓER :	SUMN	MER	MO	NTH OF EXAM	M : JUN	IE-2017
ROLL NO	NAME	U L	CH22	203(3)	BT30	21(3)	HU40	01(3)	PE50	011(3)	EE32	202(2)	CS23	301(4)	PH120	02(2)	CS51	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6133/14	VIKASH KUMAR SINGH	U	F	0.0	F	0.0	F	0.0	C	15.0	-	-	-	-	-	-	-	-	15.0	12.0	1.25	
BE/0133/14	VIKASII KUWAK SINGII	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	13.0	12.0	1.23	-
DE/(200/14	DD IV A NIZ A IZI M A DI	U	-	-	-	-	-	-	-	-	C	10.0	D	16.0	F	0.0	С	20.0	46.0	12.0	2.02	
BE/6200/14	PRIYANKA KUMARI	T													$\equiv$		$\overline{}$	$\overline{}$	46.0	12.0	3.83	-

CH2203(3)	: ENVIRONMENTAL SCIENCE	-	:
BT3021(3)	: BIOLOGICAL SCIENCE	-	:
HU4001(3)	: FOREIGN LANGUAGE (FRENCH)	-	:
PE5011(3)	: PROJECT ENGINEERING	-	:
EE3202(2)	: BASIC ELECTRICAL ENGINEERING LAB	-	:
CS2301(4)	: FUNDAMENTALS OF DATA STRUCTURE	-	:
PH1202(2)	: PHYSICS LAB	-	:
CS5101(4)	: FORMAL LANGUAGE & AUTOMATA THEORY	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2017

Controller of Examinations

EE2201(4)

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-CS-SUMMER / SS/17/ 2016-2017

By the order of Examination committee, the following is the result of BE-CS - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017 CLASS :	BE-C	S		BRANCI	H : E	NGINEE	RING				5	SEMES.	ΓER / TR	IMEST	ER :	SUMME	R	MON	NTH OF EXAM	I : JUN	IE-2017
ROLL NO	NAME	U L	MA4	109(3) 07(3)	MA12 CS30	01(4) 05(3)	AM12 CH14	01(4)	ME20 CS410	( )	EC20 CS81	( )		201(4) 101(4)		109(4) 201(4)	EE220	01(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DE/6202/14	RAHUL KUMAR	U	F	0.0	-	-	-	-	-	-	-	-	-	-	С	20.0			40.0	11.0	3.64	
BE/0202/14	KAITOL KUWAK	L	-	-	-	-	-	-	-	-	-	-	C	20.0	-	-	-	-	40.0	11.0	3.04	-

MA1201(4) : ENGINEERING MATHEMATICS CS3005(3) : OBJECT ORIENTED PROGRAMMING USING JAVA	
AM1201(4) : ENGINEERING MECHANICS CH1401(3) : ENGINEERING CHEMISTRY	
ME2001(3) : PRINCIPLES OF MECHANICAL ENGINEERING CS4101(3) : DISCRETE MATHEMATICAL STRUCTURES	
EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING CS8101(3) : ARTIFICIAL INTELLIGENCE AND EXPERT SYSTEMS	
MA2201(4) : ADVANCED ENGINEERING MATHEMATICS CS5101(4) : FORMAL LANGUAGE & AUTOMATA THEORY	
CS4109(4) : COMPUTER SYSTEM ARCHITECTURE EC3201(4) : DIGITAL ELECTRONICS	

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

: PRINCIPLES OF ELECTRICAL ENGINEERING

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-SUMMER / SS/17 / 2016-2017

By the order of Examination committee, the following is the result of BE-EC - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017	CLASS : B	E-E0	2		BRANC	Н : І	ENGINI	EERING					SEMES	TER / TI	RIMEST	ER :	SUMMI	ER	MON	TH OF EXAM	I : JUN	E-2017
			U	AM1	201(4)	EC42	01(3)	EC4	205(3)	CH14	101(3)	CH22	03(3)	MA1	201(4)	MA2	201(4)	EC42	03(4)				
ROLL NO	NAME		L	EC42	207(3)	EC52	201(3)	EC3	205(3)	EE22	201(4)	EE32	05(4)	EE32	202(2)	PH1:	201(4)	EC32	01(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6013/14	RASHMI RANI		U	B+	28.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	28.0	4.0	7.00	_
BE/0013/11	TO IGHINI TO II VI		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	1.0	7.00	
BE/6049/14	ABHISHEK KUMAR		U	-	-	С	15.0	D	12.0	В	18.0	F	0.0		-	-	-	-	-	45.0	12.0	3.75	_
B2/00/19/11			L	-	-	-	-		-	-	-	-	-		-					10.0	12.0	5.70	
BE/6065/14	NILESH BINAYAK		U	-	-	-	-	-	<u> </u>	-	-	-	-	D	16.0	D	16.0	С	20.0	52.0	12.0	4.33	_
			L	-	-	-	-	-	-	-	-	-	-		-	-	-	-	-				
BE/6072/14	AKASH RANJAN		U	-	-	-	-	_	-	-		-	-	-	-	F	0.0	-	<u> </u>	00.0	7.0	0.00	-
			U	F	0.0	-	-	_	<u> </u>	-	-	-	-		-	-		-	-				
BE/6074/14	ASHUTOSH DUBEY		Ţ	-	-	В	18.0	-	-	-	-	-	-	-	-	-	-	-	-	18.0	3.0	6.00	-
			L		-	-	-	-	-	-	-	-	-	-		C	20.0	-					
BE/6075/14	ROHIT KUMAR		ī					_	_	_						_	20.0		-	20.0	4.0	5.00	-
			L			_	_							В	24.0	F	0.0						
BE/6076/14	PUJA RAJ		Ū				-	_	-						24.0	Г	0.0	<u> </u>	-	24.0	8.0	3.00	-
			L	-	-	- F	0.0	_	<u> </u>	-	-	-	-	-	-	- C	20.0	-	-				
BE/6083/14	VISHAL PRATAP SINGH		Ţ	-	-	В	18.0	_	-		-	<u> </u>	-		-			-	-	38.0	10.0	3.80	-
			U	-	-	Б	18.0	-	<u> </u>	_	-	-	-	C	20.0		-						
BE/6106/14	MARSHAL HANSDA		ī			D	12.0	В	18.0	_				-	20.0	H				50.0	10.0	5.00	-
			U		_	-	12.0		10.0	_				_		H	_						
BE/6111/14	SHUBHAM		L	F	0.0		_	В	18.0	-				-			_			18.0	6.0	3.00	-
			U	-	-	_	_		-	В	18.0		-	F	0.0	-	_	_					
BE/6130/14	RAVI PRAKASH		L	-	-	-	-	_	<u> </u>	D	16.0		-	-	-	-	_	-		34.0	11.0	3.09	-
			U	-	-	-	-	_	-	-	-	-	-	F	0.0	-	-	-	-				
BE/6139/14	AKKI KAVITHA		L	-	-	-	-	-	-	F	0.0	F	0.0	-	-	-	-	-	-	00.0	12.0	0.00	-

CH1401(3) : ENGINEERING CHEMISTRY EE2201(4) : PRINCIPLES OF ELECTRICAL ENGINEERING CH2203(3) : ENVIRONMENTAL SCIENCE EE3205(4) : NETWORK THEORY

MA1201(4) : ENGINEERING MATHEMATICS EE3202(2) : BASIC ELECTRICAL ENGINEERING LAB MA2201(4) : ADVANCED ENGINEERING MATHEMATICS PH1201(4) : PHYSICS

EC4203(4) : ANALOG COMMUNICATION SYSTEM EC3201(4) DIGITAL ELECTRONICS

Disclaimer

RICAL ENGINEERING LAB Controller of Examinations

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2017

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-SUMMER / SS/17/ 2016-2017

By the order of Examination committee, the following is the result of BE-EC - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017 C	LASS : BE-E	2		BRANC	H : E	ENGINE	ERING					SEMES	STER / TI	RIMESTI	ER :	SUMME	R	MON	NTH OF EXAM	I : JUN	E-2017
ROLL NO	NAME	U L		201(4)	EC420 EC52	ì í		205(3) 205(3)		401(3) 201(4)	CH22 EE32	( )		201(4) 202(2)	MA22 PH12	` '	EC42 EC32	( )	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
RE/6157/14	SUMIT KUMAR	U	-	-	-	-	-	-	-	-	-	-	F	0.0	-	-	-	-	14.0	9.0	1.56	_
BE/013//14	SOWIT KOWAK	L	F	0.0	-	-	-	-	-	-	-	-	B+	14.0	-	-	-	-	14.0	7.0	1.50	_
BE/6159/14	NISHANT KUMAR	U	-	-	-	-	-	-	В	18.0	-	-	-	-	-	-	-	-	18.0	7.0	2.57	
BE/0139/14	NISHANI KUWAK	L	-	-	-	-	-	-	-	-	-	-	-	-	F	0.0	-	-	16.0	7.0	2.37	-
DE/6102/14	SUDHIR KUMAR	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	21.0	3.0	7.00	
BE/0192/14	SUDHIR KUMAR	L	-	-	-	-	B+	21.0	-	-	-	-	-	-	-	-	-	-	21.0	3.0	7.00	-
BE/6205/14	ATUL RICHARDSON KONG	A D I	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	46.0	10.0	4.6	
BE/0203/14	ATUL KICHARDSON KUNG	L	С	15.0	-	-	С	15.0	D	16.0	-	-	-	-	-	-	-	-	40.0	10.0	4.6	-

AM1201(4)	: ENGINEERING MECHANICS	EC4207(3)	: ELECTROMAGNETIC THEORY
EC4201(3)	: VLSI DESIGN	EC5201(3)	: DIGITAL COMMUNICATION SYSTEM
EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER	EC3205(3)	: SEMICONDUCTOR DEVICES
CH1401(3)	: ENGINEERING CHEMISTRY	EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING
CH2203(3)	: ENVIRONMENTAL SCIENCE	EE3205(4)	: NETWORK THEORY
MA1201(4)	: ENGINEERING MATHEMATICS	EE3202(2)	: BASIC ELECTRICAL ENGINEERING LAB
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	PH1201(4)	: PHYSICS

EC4203(4) : ANALOG COMMUNICATION SYSTEM EC3201(4) DIGITAL ELECTRONICS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

Disclaimer

EXAMINATION DEPARTMENT

Date: SEPT-2017

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-SUMMER / SS/17 / 2016-2017

By the order of Examination committee, the following is the result of BE-EC - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017 CLASS : B	E-E0	2		BRAN	CH : 1	ENGINE	ERING					SEMES	STER / T	RIMES	TER :	SUMM	IER	MON	NTH OF EXAM	I : JUN	E-2017
ROLL NO	NAME	U L		201(3) 301(4)		205(3) 201(4)		401(3) 205(3)		001(3) 207(3)		203(3) 201(4)		001(3)		202(2) 402(2)		201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	TORVIS	CKEDITS		
BE/6169/14	VIKAS KUMAR	U	F	0.0	F	0.0	С	15.0	F	0.0	-	-	-	-	-	-	-	-	15.0	12.0	1.25	_
BB/0103/11.	VIII D II	L	-		-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	12.0	1.20	
BE/6170/14	CHANDAN KUMAR VERMA	U	С	15.0	-	-	С	15.0	D	12.0	С	15.0	-	-	-	-	-	-	57.0	12.0	4.75	_
BE/01/0/11	CHARLET ROSMAN V ENGLY	L	-		-	-	-	-		-	-		-	-	-	-	-		37.0	12.0	1.75	
BF/6172/14	AJAY ANANT	U	-	-	D	12.0	-	-	F	0.0	-	-	С	15.0	В	12.0	-		39.0	11.0	3.55	_
BE/01/2/11	10/11/11/11	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		37.0	11.0	3.55	
BE/6195/14	SAJJAN KUMAR	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	32.0	12.0	2.67	_
BE/01/3/14	SASARI ROMAR	L	D	16.0	F	0.0	-	-	-	-	-	-	-	-	-	-	D	16.0	32.0	12.0	2.07	_
BE/6206/14	MARSHAL HANSDA	U	-	-	С	15.0	-	-	D	12.0	-	-	-	-	-	-	-	-	51.0	12.0	4.25	_
BE, 0200/14	MINGINE IN INDEA	L	-	-	-	-	D	12.0	D	12.0	-	-	-	-	-	-	-		31.0	12.0	7.23	
BE/6210/14	SONU SOURAV	U	-	-	-	-	-	-	-	-	-	-	F	0.0	-	-	D	16.0	42.0	11.0	3.82	_
BE/0210/14	BOITO BOOKITY	L	-	-	-	-	-	-	-	-	_	-	В	12.0	B+	14.0	-	-	72.0	11.0	3.02	

EC4201(3)	: VLSI DESIGN	CS2301(4)	: FUNDAMENTALS OF DATA STRUCTURE

EC4205(3) : MICROPROCESSOR AND MICROCONTROLLER PH1201(4) : PHYSICS

EC3205(3) EC4207(3) CH1401(3) ENGINEERING CHEMISTRY SEMICONDUCTOR DEVICES EC2001(3) PRINCIPLES OF ELECTRONICS ENGINEERING ELECTROMAGNETIC THEORY

CH2203(3) ENVIRONMENTAL SCIENCE EC3201(4) DIGITAL ELECTRONICS ME2001(3) : PRINCIPLES OF MECHANICAL ENGINEERING EE3202(2) BASIC ELECTRICAL ENGINEERING LAB

EC3202(2) : DIGITAL ELECTRONICS LAB CH1402(2) CHEMISTRY LAB

: ENGINEERING MATHEMATICS AM1201(4) ENGINEERING MECHANICS MA1201(4)

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-SUMMER / SS/17 / 2016-2017

By the order of Examination committee, the following is the result of BE-EE - SUMMER Semester held in the month of JUNE-2017

Date: SEPT-2017

SESSIO	N : 2016-2017	CLASS :	BE-EI	Ξ		BRANC	CH : E	NGINE	ERING					SEMES	STER / TI	RIMEST	TER :	SUMME	ER	MON	NTH OF EXAM	I : JUN	E-2017
			U	MA1	201(4)	MA2	201(4)	EE42	209(4)	EE52	201(3)	EE5	207(3)	EE5	201(3)	EE32	201(3)	PH12	01(4)	TOTAL ORDERIT			
ROLL NO	NAME		L	EE52	203(3)	CH2	203(3)	EE4	203(3)	EE42	208(2)	ME2	001(3)	AM1	201(4)	CH1	401(3)	GA40	08(1)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6008/14	ATUL KUMAR		U	С	20.0	В	24.0	-	-	-	-	-	-	-	-	<u> - </u>		-	-	44.0	8.0	5.50	_
			L	-	-	-	-	-	-	-	-	-	-	-	-	<u> - </u>		-	-				
BE/6015/14	VISHAL GANGULY		U	-	-	-	-	A	32.0	-	-		-	-	-	<u> </u> -			-	32.0	4.0	8.00	_
			L	-	-	-	-	-	-	-	-	-	-	-	-	-		-					
BE/6030/14	SUNIL BARLA		U	-	-	-	-	F	0.0	B+	21.0	D	12.0	-	<u> </u>	<u> </u>	-	-	-	33.0	10.0	3.30	-
			L	-	-	-	-	-	-	- C	15.0		-	-	<u> </u>	- F	0.0	-	-				
BE/6039/14	GOVINDA HANSDA		ī	C	15.0	D	12.0		-		13.0	<u> </u>	<u> </u>	<u> </u>		F	0.0			42.0	12.0	3.5	-
			II	-	13.0	- D	12.0	_		D	12.0		<u> </u>	<u> </u>	<u> </u>	C	15.0		_				
BE/6040/14	ROSHAN KUJUR		L	_				D	12.0	A	16.0	<u> </u>	<u> </u>	<u>                                      </u>	<u>                                     </u>	-	-			55.0	11.0	5.00	-
			U	-	_	-	-	-	-	В	18.0	D	12.0	-	-	-	-	-	-				
BE/6047/14	PANKAJ EKKA		L	-	-	-	-	D	12.0	-	-	С	15.0	-	-	<del>-</del>	-	-	-	57.0	12.0	4.75	-
			U	_	_	-	-	-	_	-	-	_	_	-	-	<u> </u>	-	-	-				
BE/6056/14	SWETA PALLAVI		L	_	_	_	_	_	_	A	16.0	_	<u> </u>	B+	28.0	-	_	_	_	44.0	6.0	7.33	-
			U	D	16.0	-	-	-	-	В	18.0	_	-	-	-	-	-	-	-				
BE/6066/14	SIKANDER KUMAR		L	-	-	-	-	-	-	-	-	-	-	-	-	<del> </del>	-	-	-	34.0	7.0	4.86	-
P.P./ 60 60 /4 /			U	F	0.0	-	-	-	-	В	18.0	-	-	-	-	-	-	-	-	250	100		
BE/6069/14	SUBHAM KUMAR		L	-	-	-	-	-	-	-	-	-	-	-	-	В	18.0	-	-	36.0	10.0	3.60	-
BE/6098/14	AYUSH KUMAR		U	-	-	A	32.0	-	-	-	-	-	-	-	-	-	-	-	-	32.0	4.0	8.00	
BE/0098/14	A I USH KUMAK		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	32.0	4.0	8.00	_
BE/6114/14	YASH JAISWAL		U	F	0.0	-	-	-	-	B+	21.0	С	15.0	-	-	-	-	-	-	44.0	11.0	4.00	_
DE/0114/14	171511 JAIS WAL		L	- ]	-	-	-	-	-	-	-	-	-	-	-	-	-	A	8.0	77.0	11.0	7.00	
BE/6120/14	VIKASH KUMAR MEHTA		U	D	16.0	-	-	-	-	A+	27.0	F	0.0	-	-			-	-	43.0	10.0	4.30	_
			L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				

MA1201(4)	: ENGINEERING MATHEMATICS	EE5203(3)	: ELECTRICAL MACHINES – II
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	CH2203(3)	: ENVIRONMENTAL SCIENCE
EE4209(4)	: ENGINEERING ELECTROMAGNETICS	EE4203(3)	: ELECTRICAL MACHINE I
EE5201(3)	: MICROPROCESSOR & MICROCONTROLLER	EE4208(2)	: DIGITAL SIGNAL PROCESSING LAB
EE5207(3)	: POWER SYSTEM – I	ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING

EE5201(3) : MICROPROCESSOR & MICROCONTROLLER AM1201(4) : ENGINEERING MECHANICS CH1401(3) GA4008(1) EE3201(3) : INTRODUCTION TO SYSTEM THEORY : ENGINEERING CHEMISTRY

PH1201(4) : PHYSICS CREATIVE ARTS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

Disclaimer

Controller of Examinations

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-SUMMER / SS/17/ 2016-2017

By the order of Examination committee, the following is the result of BE-EE - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017	CLASS : BE-	EE		BRANCI	H : E	ENGINEI	ERING					SEMEST	TER / TI	RIMEST	ER :	SUMME	R	MON	TH OF EXAM	I : JUN	IE-2017
ROLL NO	NAME	J		.1201(4)	MA22 CH22	` /	EE42 EE42	209(4)		201(3)		207(3) 001(3)	EE52 AM12	( )		201(3) 401(3)	PH120 GA40	`	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	<del></del>	GR.	PT.	GR.		GR.		GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	FOINTS	CKEDIIS		
BE/6121/14	VIVEK RANJAN	Ţ	J -	-	-	-	-	-	В	18.0	D	12.0	-	-	-	-	-	-	63.0	12.0	5.25	_
DL/0121/14	VIVER RAIGAN	1	_	-	-	-	-	-	-	-	B+	21.0	-	-	D	12.0	-	-	05.0	12.0	3.23	
BE/6126/14	KUNDAN KUMAR	Ţ	J D	16.0	F	0.0	-	-	B+	21.0	-	-	-	-	-	-	-	-	37.0	11.0	3.36	_
BE/0120/11	RONDIN ROMAN	1		-	-	-		-	-	-	-	-	-	-		-	-		37.0	11.0	3.30	
BE/6162/14	SHALINI SHEKHAR	J	J D	16.0	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	16.0	8.0	2.00	_
		1	<u> </u>			-	-	-	-	-	-	-	-			-	-	-				
BE/6181/14	MD. SHAHBAZ	<u> </u>	J D	16.0	-	-		-			-	-	-	-		-	-		16.0	4.0	4.00	_
		]	-	<del>  -</del>	-	-		-	-	-	-	-	-	-		-	-	-				
BE/6186/14	KAMLESH KUMAR		<u> </u>	-	-	-	-	-	A	24.0	-	-	-	-		-	-		24.0	3.0	8.00	_
		1	- T	-	-	-	-	-	-	24.0	-	-	-	-		-	-	-				
BE/6189/14	PRAMENDRA KUMAR		<u> </u>	<u> </u>	-	-	-	-	A	24.0		-	-	-	-	-	-		24.0	3.0	8.00	-
		'	- -	+		-	$\vdash$			24.0				_								
BE/6194/14	JALAJ VERMA		/ <u> </u>		-	-	В	24.0	Α	24.0	-	-	-	-		-	-	-	48.0	7.0	6.86	-
		I		<del>  -</del>	-	-	-	-	-	-	-	-	-	-		-	-	-				
BE/6208/14	ZIAUL ABEDIN		<u> </u>	-	-	-	-	-	B+	21.0	-	-	-	-	<u> </u>	-	-		21.0	3.0	7.00	-
		1	-	<del>  -</del>		-	-	-	-	15.0	-	-	-	-		-	-	-				
BE/6213/14	MD. HASNAIN ALAM		/ - / -	-		-	-	-	С	15.0	-	-	-	-		-			15.0	3.0	5.00	_

MA1201(4)	: ENGINEERING MATHEMATICS	EE5203(3)	: ELECTRICAL MACHINES – II
MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	CH2203(3)	: ENVIRONMENTAL SCIENCE
EE4209(4)	: ENGINEERING ELECTROMAGNETICS	EE4203(3)	: ELECTRICAL MACHINE I
EE5201(3)	: MICROPROCESSOR & MICROCONTROLLER	EE4208(2)	: DIGITAL SIGNAL PROCESSING LAB
EE5207(3)	: POWER SYSTEM – I	ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING
EE5201(3)	: MICROPROCESSOR & MICROCONTROLLER	AM1201(4)	: ENGINEERING MECHANICS
EE3201(3)	: INTRODUCTION TO SYSTEM THEORY	CH1401(3)	: ENGINEERING CHEMISTRY
PH1201(4)	: PHYSICS	GA4008(1)	CREATIVE ARTS

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

### EXAMINATION DEPARTMENT

Date: SEPT-2017

С

16.0

15.0

В

24.0

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-SUMMER / SS/17 / 2016-2017

BE/6191/14 ASHISH RAJ

BE/6201/14 RAUSHAN KUMAR

By the order of Examination committee, the following is the result of BE-EE - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017	CLASS : BE-	-EE		E	BRANC	H : E	NGINE	ERING					SEMES	STER / T	RIMES	TER :	SUMN	IER	MO	NTH OF EXAN	A : JUN	√E-2017
ROLL NO	NAME			EE5207	`		201(3)		203(3) 201(4)		201(3) 201(3)		001(3) 203(3)		201(4)		401(3) 203(3)		207(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			G			GR.	PT.	GR.	<u> </u>	!	PT.	GR.	PT.	GR.	PT.	GR.	<del>- `</del>	GR.	PT.	POINTS	CREDITS		
BE/6143/14	ROHAN CHOUDHARY		U 1	7	0.0	-	-	F	0.0	F	0.0	-	-	-	-	-	-	-	-	00.0	9.0	0.00	_
DL/0143/14	ROHAN CHOODHART		L .	- ]	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	7.0	0.00	
BE/6150/14	PRINCE KUMAR		U I	) [	12.0	В	18.0	D	12.0	-	-	F	0.0	-	-	-	-	-	-	42.0	12.0	3.50	_
BE/0130/14	I KINCE KOMAK		L ·	·	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	42.0	12.0	3.30	_
BE/6158/14	ARNAB NANDI		U .	<u> </u>	-	-	-	-	-	-	-	-	-	-	-	-	-	С	15.0	29.0	5.0	5.80	_
BE/0130/14	ARCAD MADI		L B	+ :	14.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	29.0	3.0	3.00	
BE/6175/14	ADITYA SOURYA		U .	<u> </u>	-	-	-	-	-	-	-	-	-	-	-		-	-	-	52.0	8.0	6.50	_
BE/01/3/11	ABITTA SOCKTA		L ·	<u> </u>	-	B+	28.0	В	24.0	-	-	-	-	-	-	-	-	-	-	32.0	0.0	0.50	
BE/6176/14	RITESH KUMAR		U .	<u> </u>	-	В	18.0	С	15.0	-	-	D	12.0	-	-		-	-	-	63.0	12.0	5.25	_
DL/01/0/14	ICTEST ROWNIC		L ·	<u> </u>	-	-	-	-	-	В	18.0	-	-	-	-	-	-	-	-	05.0	12.0	3.23	
BE/6183/14	RUPANSHU SURYA PRAK	(ASH	U .	_	-	-	-	-	-	-	-	-	-	-	-	_	-	-	-	16.0	2.0	8.00	_
DL/0103/14			L .	.	-	-	-	-	-	-	-	-	-	A	16.0	-	-	-	-	10.0	2.0	0.00	

15.0

EE5207(3)	: POWER SYSTEM – I	EE3202(2)	: BASIC ELECTRICAL ENGINEERING LAB
EE5201(3)	: MICROPROCESSOR & MICROCONTROLLER	EE3205(4)	: NETWORK THEORY
EE4203(3)	: ELECTRICAL MACHINE I	EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING
EE4201(3)	: ELECTRICAL MEASUREMENT & INSTRUMENTATION	EE3201(3)	: INTRODUCTION TO SYSTEM THEORY
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	EE4203(3)	: ELECTRICAL MACHINE I
PH1201(4)	: PHYSICS	EE4204(2)	: ELECTRICAL MACHINE LAB I
CH1401(3)	: ENGINEERING CHEMISTRY	EE5203(3)	: ELECTRICAL MACHINES – II
EE3207(3)	: ELECTRICAL ENERGY GENERATION & CONTROL	EE4209(4)	ENGINEERING ELECTROMAGNETICS

0.0

C

B+

15.0

21.0

Controller of Examinations

12.0

9.0

3.75

6.78

45.0

61.0

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-SUMMER / SS/17 / 2016-2017

By the order of Examination committee, the following is the result of BE-EE - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017 CLA	ASS : BE-EI	Е		BRANG	CH :	ENGINE	EERING					SEMI	ESTER	/ TRIMI	ESTER	: SI	JMMER		MONTH OF I	EXAM :	JUNE-2017
ROLL NO	NAME	U L		1401(3) 5203(3)	CH22	203(3)	ME20	01(3)	EE52	204(2)	EE52	07(3)	EE520	01(3)	EE320	)2(2)	EE42	201(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6204/14	DEOKANT JUGNOO	U	F	0.0	F	0.0	F	0.0	B+	14.0	-	-	-	-	-	-	-	-	14.0	11.0	1.27	_
BE/0204/14	DEORANT JUGNOO	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	14.0	11.0	1.27	-
DE/6211/14	ANUKEERTI NIWASAN	U	-	-	-	-	-	-	-	-	F	0.0	-	-	F*	0.0	-	-	15.0	8.0	1.88	F* IN : EE3202
DE/0211/14	ANUKEEKIINIWASAN	L	C	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	13.0	0.0	1.88	F'IN . EE3202
DE/6214/14	CHIVAM CALIDAY	U	D	12.0	-	-	-	-	-	-	F	0.0	-	-	-	-	D	12.0	24.0	9.0	2.67	
BE/6214/14 SHIVAM SAURAV	L	-	T -	_	-	-	-	-	-	-	-	-	-	-		-	-	24.0	9.0	2.6/	-	

CH1401(3) : ENGINEERING CHEMISTRY EE5203(3) : ELECTRICAL MACHINES - II CH2203(3) : ENVIRONMENTAL SCIENCE ME2001(3) : PRINCIPLES OF MECHANICAL ENGINEERING EE5204(2) : ELECTRICAL MACHINE LAB -II EE5207(3) : POWER SYSTEM - I : MICROPROCESSOR & MICROCONTROLLER EE5201(3) EE3202(2) : BASIC ELECTRICAL ENGINEERING LAB : ELECTRICAL MEASUREMENT & INSTRUMENTATION EE4201(3)

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-SUMMER / SS/17/ 2016-2017

By the order of Examination committee, the following is the result of BE-EE - SUMMER Semester held in the month of JUNE-2017

SESSIO	N: 2016-2017 CLASS:	BE-EI	Ξ		BRANC	Н : Е	ENGINE	ERING					SEMES'	TER / TI	RIMES	ΓER :	SUMM	ER	MON	NTH OF EXAM	1 : JUN	IE-2017
ROLL NO	NAME	U L		03(3)	MA22 CH22	( )	EE42 EE42	( )		201(3)	EE52 ME20	` /	EE52	( )		201(3) 401(3)	PH12 GA40	01(4) 008(1)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6032/14	ABHISHEK KUJUR	U	F	0.0	-	-	-	-	A	24.0	F	0.0	-	-	С	15.0	-	-	39.0	11.0	3.55	_
BL/0032/14	ADITIONER ROJUK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	37.0	11.0	3.33	_

PH1202(2) MA2201(4) EE4209(4) EE5201(3) EE5201(3) EE5201(3) EE3201(3) PH1201(4)	: PHYSICS LAB : ADVANCED ENGINEERING MATHEMATICS : ENGINEERING ELECTROMAGNETICS : MICROPROCESSOR & MICROCONTROLLER : POWER SYSTEM – I : MICROPROCESSOR & MICROCONTROLLER : INTRODUCTION TO SYSTEM THEORY : PHYSICS	EE5203(3) CH2203(3) EE4203(3) EE4208(2) ME2001(3) AM1201(4) CH1401(3) GA4008(1)	: ELECTRICAL MACHINES – II : ENVIRONMENTAL SCIENCE : ELECTRICAL MACHINE I : DIGITAL SIGNAL PROCESSING LAB : PRINCIPLES OF MECHANICAL ENGINEERING : ENGINEERING MECHANICS : ENGINEERING CHEMISTRY CREATIVE ARTS	Controller of Examinations
--	--	--	--	----------------------------

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

EXAMINATION DEPARTMENT

Date : SEPT-2017

PH1201(4)

: PHYSICS

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-SUMMER / SS/17/ 2016-2017

By the order of Examination committee, the following is the result of BE-EE - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017 CLAS	SS : BE-EI	Е		BRANC	CH : E	ENGINEE	ERING					SEMEST	TER / TI	RIMEST	ER :	SUMMI	ER	MON	TH OF EXAM	1 : JUN	NE-2017
ROLL NO	NAME	U L		204(2) 203(3)		201(3)	EE420 EE42	09(4) 03(3)		201(3)	EE52 ME20	` '	EE520 AM12	`	EE320 CH14	( )	PH12 GA40	( )	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6199/14	RIKDEB BHOWMIK	U	B+	14.0	В	18.0	-	-	A+	27.0	-	-	-	-	-	-	-	-	59.0	8.0	7.38	_
BE/0199/14	KIKDED DITO WIVIK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	37.0	0.0	/.36	_

EE5204(2)	: ELECTRICAL MACHINE LAB –II	EE5203(3)	: ELECTRICAL MACHINES – II	
EE4201(3)	: ELECTRICAL MEASUREMENT & INSTRUMENTATION	CH2203(3)	: ENVIRONMENTAL SCIENCE	
EE4209(4)	: ENGINEERING ELECTROMAGNETICS	EE4203(3)	: ELECTRICAL MACHINE I	100
EE5201(3)	: MICROPROCESSOR & MICROCONTROLLER	EE4208(2)	: DIGITAL SIGNAL PROCESSING LAB	Candey.
EE5207(3)	: POWER SYSTEM – I	ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING	
EE5201(3)	: MICROPROCESSOR & MICROCONTROLLER	AM1201(4)	: ENGINEERING MECHANICS	Controller of Examinations
EE3201(3)	: INTRODUCTION TO SYSTEM THEORY	CH1401(3)	: ENGINEERING CHEMISTRY	

GA4008(1)

Disclaimer

CREATIVE ARTS

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

EXAMINATION DEPARTMENT

Date: SEPT-2017

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-SUMMER / SS/17 / 2016-2017

By the order of Examination committee, the following is the result of BE-MECH - SUMMER Semester held in the month of JUNE-2017

SESSIO	N : 2016-2017 CLA	ASS : BE-l	MEC	CH		BR	ANCH	: ENG	GINEERIN	NG				SEMI	ESTER / T	RIMES	TER :	SUMM	IER	MON	TH OF EXAM	1 : JUN	IE-2017
		1	U	EC2002	(2)	PE40	01(3)	ME4	005(3)	ME5	001(4)	CH1	401(3)	MSH	1131(3)	ME5	005(3)	ME3	001(3)	TOTAL CREDIT	TOTAL		
ROLL NO	NAME		- 11=	CS1302(			003(4)	MA2	2201(4)		005(4)		003(4)		201(4)		201(4)		201(4)	POINTS	CREDITS	SGPA	REMARKS
			==		T.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6017/14	BABLU HANSDA		U	B 1	2.0	С	15.0	С	15.0	D	16.0	-	-	-   -	-	-	-	-	-	58.0	12.0	4.83	-
			п	_	_			_		D	16.0		15.0	C	15.0	_							
BE/6021/14	UJJWAL KUMAR			-	-	_	-	_	_	-	-	-	-	-	-	-	_	-	_	46.0	10.0	4.6	-
DE (60.00 // /			U	-	-	-	-	-	-	F	0.0	-	-	-	-	D	12.0	С	15.0		40.0		
BE/6022/14	RISHIKESH BHARTI		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	27.0	10.0	2.70	-
BE/6025/14	NITISH KUMAR GOND		U	-	-	-	-	-	-	F	0.0	-	-	-	-	D	12.0	-		33.0	10.0	3.30	_
BE/0025/11	THE STATE OF THE S		L	B+ 2	1.0	-	-	-	-	-	-	-	-	-	-	-	-	-		33.0	10.0	3.50	
BE/6043/14	HARISH KUMAR		U	-	-	-	-	-	-	B+	28.0	-	-	-	-	-	-	-	-	28.0	4.0	7.00	-
			L	-	-	-	-		-	-	-	-	-	-	-	-	-	-					
BE/6045/14	VIVEK TIU	<u> </u>		B+ 1	4.0	- C	20.0	<u> </u>	-	-	-	-	-	-	-	C	15.0	-	-	49.0	9.0	5.44	-
			IJ	_	_	_	-	_	_	_	_	_	<del>-</del>	_	_	_	_	-	_				
BE/6048/14	RAHUL VERMA		L	-	-	_	_	F	0.0	В	24.0	С	20.0	_	_	_	_	_		44.0	12.0	3.67	-
		1	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BE/6050/14	VAIBHAV ABHISHEK LAKRA	`	L	-	-	D	16.0	-	-	С	20.0	-	-	С	20.0	-	-	-	-	56.0	12.0	4.67	-
BE/6051/14	ANIMESH GAUTAM		U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	_
BL/0031/14	ANIMESTI GAUTAM		L	-	-	-	-	-	-	-	-	-	-	-	-	С	20.0	-		20.0	4.0	3.00	
BE/6054/14	NIRANJAN KUMAR		U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	44.0	8.0	5.50	-
			L	-	-	B+	28.0	D	16.0	-	-	-	-	-	-	-	-	-					
BE/6059/14	ANUJ KUMAR		r.	-	-	- B+	28.0		-	-	-	- D	16.0	-	-	-	-	- A	32.0	76.0	12.0	6.33	-
			П	_	_		20.0			_		-	-	-   -		_			52.0				
BE/6064/14	DEEPAK KUMAR MAHTO	F	L	-	-	B+	28.0	В	24.0	-	-	-	-	-	-	В	24.0	-	-	76.0	12.0	6.33	-

EC2002(2) : BASIC ELECTRONICS ENGINEERING LAB CS1302(3) : FUNDAMENTALS OF UNIX & C PROGRAMMING

PE4001(3) : MANUFACTURING PROCESS-I ME4003(4) : MECHANICS OF MATERIALS

ME4005(3) : NON CONVENTIONAL ENERGY MA2201(4) : ADVANCED ENGINEERING MATHEMATICS ME5001(4) : IC ENGINE & GAS TURBINE ME3005(4) : MECHANICS OF SOLIDS

CH1401(3) : ENGINEERING CHEMISTRY ME5003(4) : KINEMATICS & KINETICS OF MACHINES MSH1131(3) : PRINCIPLES OF MANAGEMENT EE2201(4) : PRINCIPLES OF ELECTRICAL ENGINEERING

ME5005(3) : DESIGN OF MACHINE ELEMENTS MA1201(4) AM1201(4) : ENGINEERING MATHEMATICS ENGINEERING MECHANICS ME3001(3) : THERMODYNAMICS

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

EXAMINATION DEPARTMENT

Date: SEPT-2017

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-SUMMER / SS/17 / 2016-2017

By the order of Examination committee, the following is the result of BE-MECH - SUMMER Semester held in the month of JUNE-2017

SESSION: 2016-2017 CLASS: BE-MECH BRANCH								BRANCH : ENGINEERING							RIMES	TER :	SUMM	1ER	MONTH OF EXAM : JUNE-2017				
ROLL NO	NAME		EC20 CS13			PE4001(3) ME4003(4)		ME4005(3) MA2201(4)		ME5001(4) ME3005(4)		CH1401(3) ME5003(4)		MSH1131(3) EE2201(4)		005(3) 201(4)	ME3001(3) AM1201(4)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.					
BE/6067/14	KULDEEP MAHATO	U	-	-	-	-		-		-	-	-	-	-	-		-		24.0	4.0	6.00		
		L	-		В	24.0	-	-	-	-	-	-	-	-	-								
BE/6100/14	TAUSIF MD IOBAL	U	-	<u> </u>	-		-	-	-	-	-	-	-	-	-	-			52.0	8.0	6.50	-	
BE/0100/11	THOUSE IND IQUIE	L	-		В	24.0	-	-	-	-	B+	28.0	-	-	-	-	-	-	32.0				
BE/6107/14	ROHIT ANAND	U	-	<u> </u>	-		-	-	-	-	-	-	-	-	-	-	F	0.0	00.0	4.0	7.00	-	
BEFOIGHTI		L	-	-	F	0.0		-	F	0.0	-	-		-	-		_	-	00.0				
BE/6128/14	SHREYANK VERMA	U	-	<u> </u>	-	-		-		-		-	-					-	28.0				
		L	-		-	-	B+	28.0	-	-	-	-	-	-	-			-					
BE/6136/14	RITURAJ KUMAR	U	-	<u> </u>	-	-		-		-		-	-		D	12.0		-	48.0	11.0	4.36	-	
		L	-	-	-	-	-	-	С	20.0	D	16.0	-	-	-	-	-	-					
BE/6164/14	MAROOF AHMAD QUADRI	U	-	<u> </u>		-		-		-		-					В	18.0	70.0	11.0	6.36	_	
	MINIOO MINIO QUADRI	L	-	-	-	-	-	-	-	-	-	-	-	-	D	16.0	A+	36.0	, , , , ,				
BE/6198/14	KUMAR VISHAL	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	-	
DL/01/0/14	KOWAK VISHAL	L	-	-	-	-	-	-	-	-	-	-	-	-	С	20.0	-	-	20.0	7.0	3.00		
DE/6212/14	DEEPAK KUMAR	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	В	18.0	66.0	11.0	6.00		
BE/6212/14		L	-	-	В	24.0	-	-	В	24.0	-	-	-	-	-	-	-	-	00.0	11.0	0.00	-	

: FUNDAMENTALS OF UNIX & C PROGRAMMING EC2002(2) : BASIC ELECTRONICS ENGINEERING LAB CS1302(3) : MECHANICS OF MATERIALS PE4001(3) : MANUFACTURING PROCESS-I ME4003(4) ME4005(3) : NON CONVENTIONAL ENERGY MA2201(4) : ADVANCED ENGINEERING MATHEMATICS ME5001(4) : IC ENGINE & GAS TURBINE ME3005(4) : MECHANICS OF SOLIDS CH1401(3) : ENGINEERING CHEMISTRY ME5003(4) : KINEMATICS & KINETICS OF MACHINES MSH1131(3) : PRINCIPLES OF ELECTRICAL ENGINEERING : PRINCIPLES OF MANAGEMENT EE2201(4)

ME5005(3) : DESIGN OF MACHINE ELEMENTS MA1201(4) : ENGINEERING MATHEMATICS ME3001(3) : THERMODYNAMICS AM1201(4) ENGINEERING MECHANICS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

Disclaimer

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-SUMMER / SS/17 / 2016-2017

By the order of Examination committee, the following is the result of BE-MECH - SUMMER Semester held in the month of JUNE-2017

SESSION: 2016-2017 CLASS: BE-MECH					BRANCH : ENGINEERING								SEME	STER /	TRIME	STER	: SUM	MONTH OF EXAM : JUNE-2017				
ROLL NO	NAME	U L		001(3) 002(2)	ME3005(4)		AM1201(4)		EE2201(4)			EC2001(3)		EE3202(2)		CH2203(3)		01(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6055/14	MUKESH KUMAR		D	12.0	B+	28.0	B+	28.0	-	-	-	-	-	-	-	-	-	-	68.0	11.0	6.18	-
			-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	08.0			
DE/6112/14	MANISH KUMAR	U	-	-	B+	28.0	-	-	F	0.0	D	12.0	-	-	-	-	-	-	40.0	11.0	3.64	-
BE/6113/14		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0			
BE/6173/14	DODIN DANIANI	U	-	-	-	-	-	-	-	-	-	-	D	8.0	F	0.0	F	0.0	22.0	10.0	2 20	-
	ROBIN RANJAN		B+	14.0	-	-	-	_	_	-	<u> </u>	-	-	-	-	-	_	-			2.20	

PE3001(3) : METALLURGY EC2002(2) : BASIC ELECTRONICS ENGINEERING LAB ME3005(4) AM1201(4) : MECHANICS OF SOLIDS : ENGINEERING MECHANICS EE2201(4) : PRINCIPLES OF ELECTRICAL ENGINEERING EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING : BASIC ELECTRICAL ENGINEERING LAB EE3202(2) CH2203(3) : ENVIRONMENTAL SCIENCE : ENGINEERING CHEMISTRY CH1401(3)

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / DEOGHAR / BE\_PROD-SUMMER / SS/17 / 2016-2017

By the order of Examination committee, the following is the result of BE\_PROD - SUMMER Semester held in the month of JUNE-2017

SESSION : 2016-2017 CLASS : BE_PROD					BRANC	Н : Е	NGINEEI	SEMESTER / TRIMESTER : SUMMER								R MONTH OF EXAM : JUNE-2017						
ROLL NO	NAME	U L	ME3005(4)		MA1201(4)		AM1201(4)		-		-				-				TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.		]		
BE/6196/14	KSHITIJ DEV	U	B+	28.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	28.0	4.0	7.00	-
BE/0190/14		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BE/6197/14	NICHANTIZAMAI	U	В	24.0	F	0.0	F	0.0	-	-	-	-	-	-	-	-	-	-	24.0	12.0	2.00	-
	NISHANT KAMAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24.0			

MA1201(4)	: MECHANICS OF SOLIDS : ENGINEERING MATHEMATICS : ENGINEERING MECHANICS	- - -	:
-	· ·	-	:
-	•	-	:
-	· ·	-	:
-	•	-	:
-	:	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.